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	Statement of Cash Flow & Analysis of Ratios

	BOX 4-3
	Cash Flow: Indirect Method
	
	
	

	
	
	
	
	
	
	

	Net income
	
	
	
	$223,308 
	

	
	
	
	
	
	
	

	   Adjustments to reconcile:
	
	
	
	

	        Depreciation, amortization
	
	$338,233 
	

	        Fixed asset adjustment
	
	
	-12,411
	

	        Undistributed earnings
	
	
	-52,136
	

	        Change in accounts receivable
	
	-197,442
	

	        Change in inventory
	
	
	-46,298
	

	        Change in prepaids
	
	
	37,905
	

	        Change in other current assets
	
	12,243
	

	        Change in account payable
	
	372,267
	

	        Change in accrued liabilities
	
	226,471
	

	        Change in other current liabilities
	
	140,000
	

	        Change in non-n-current income
	
	52,444
	

	Net cash provided by operating activities
	$1,094,584 
	

	
	
	
	
	
	
	

	      Cash flows from investing activities
	
	
	

	          Capital spending/long-term investments
	($676,739)
	

	Net cash used in investing activites
	
	($676,739)
	

	
	
	
	
	
	
	

	       Cash flows from financing activities
	
	
	

	           Change in short-term financing
	
	                                                             $ (572,376
	

	           Change in long--term financing
	
	-29,082
	

	           Change in equity
	
	
	171,069
	

	Net cash from financing activities
	
	$430,389 
	

	
	
	
	
	
	
	

	Net increase in cash
	
	
	
	($12,544)
	

	Actual change in cash
	
	
	($12,544)
	



Well accepted terms in the field of cash-flow analysis; it is exxentiall lly identical to cash after debt amortization for the UCA cash-flow format.
      The basic idea behind the starting point of the indirect method is the net income in a stable world ought tobe available in cash. The main exception would be an adjustment  for those expenses incurred for accounting purposes though not involving and actul expenditiure during the pperiod.  Examples include deprectation, depletion, amortization and a variety of expenses reserved for, such as future warranty costs. Since these not-yet-spent costs have already been subtacted in calculating net income, the idea is that they need to be added back to get cash flow.         
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